Chapter 8, Scenario

1.
Gregory is using Windows NT 4.0, but he has a number of Win16-based applications that he frequently runs. He is concerned because he knows that if he is running a number of them at one time and one of the Win16-based applications crashes, it might stall all the others. He is told that if he starts a Win16-based application in its own NTVDM, the failure of the application will not affect the operation of the other Win16-based applications being executed. He calls and asks you how to start the Win16-based application in its own NTVDM. Which of the following would you suggest? Choose all answers that are correct. 

a.
From the Windows NT Explorer View menu, clicking Options, clicking the File Types tab, and then clicking the Win16-based application to be edited. Then, clicking Edit, double-clicking Open, and editing the open line to include the /separate switch.

b.
In Windows NT Explorer, selecting the directory which contains the Win16-based application, and then clicking Edit, Properties, and Memory. Then, checking the Run in Separate Memory Space check box.

c.
At the Command Prompt, typing start /separate [path] Win16_filename.

d.
From the Start menu, clicking Run, and in the Open box, typing the path and Win16 file name. Then, clicking the Run in Separate Memory Space check box.

e.
Creating a shortcut for the Win16-based application; right-clicking the shortcut and selecting Properties; and clicking the Run in Separate Memory Space check box.

a, c, d, and e. (page 290)

Chapter 8, Lesson 1

1.
When an application is started in Windows NT 4.0, a Windows NT process is created and implemented as an object. Which of the following statements is true for an object? Choose all answers that are correct. 

a.
An object has one or more threads.

b.
An object has a set of virtual memory addresses.

c.
An object is a kernel mode service.

d.
An object is an executable program.

a, b, and d. (page 262)

2.
Virtual memory makes use of a technique that keeps some application code and information in RAM, while other code and information is moved into virtual memory stored on the hard disk. In which of the following files is virtual memory stored?

a.
Ramdisk.cfg.

b.
System.ini.

c.
Pagefile.sys.

d.
Swapfile.sys.

c. (page 265)

3.
Which of the following statements is true about a program running in user mode? Choose all answers that are correct. 

a.
It can be paged out of physical memory into virtual RAM.

b.
It processes at a higher priority than kernel mode components.

c.
It cannot directly access hardware.

d.
It can function only in a limited address space.

a, c, and d. (page 262)

4.
Which of the following features enables Windows NT 4.0 to function on a variety of platforms? Choose all answers that are correct. 

a.
HAL.

b.
Linear addressing scheme utilized by the Virtual Memory Manager.

c.
Hardware-specific device drivers.

d.
First-level interrupt handling.

a and b. (pages 264, 267)

5.
Kernel mode utilizes the virtual memory page file on the hard disk. (True or False?)

False. (page 262) Kernel mode components are not moved to the virtual memory page file on the hard disk.

6.
With virtual memory in Windows NT, some of the application code and other information is kept in RAM while other information can be temporarily paged into virtual memory.  When paged information is required again, Windows NT reads it back into RAM, paging other information to virtual memory if necessary. (True or False?)

True. (page 265)

7.
Pages of memory currently being used must be in ______________ RAM.

Physical. (page 265)

8.
Kernel mode operations process at a _________ priority than do user mode applications.

Higher. (page 262)

9.
In Windows NT 4.0, a demand-paged virtual memory system is used, which allows each process in Windows NT 4.0 to have access to a private memory range called ________________________.

Virtual memory space. (page 265)

Chapter 8, Lesson 2

1.
Which of the following performs basic operating system functions for all subsystems?

a.
Microkernel.

b.
Local Procedure Call Facility.

c.
Executive Services.

d.
Hardware Abstraction Layer.

c. (page 269)

2.
Which of the following environmental subsystems is responsible for the logon process?

a.
OS/2.

b.
POSIX.

c.
Win32.

d.
Security.

d. (page 269)

3.
GUI-related I/O requests are routed through the Win32K Window Manager and GDI component of Executive Services. (True or False?)

True. (page 269)

4.
The security subsystem, also known as CSR or CSRSS, supports Win32-, MS-DOS-, Windows logons, applications, console applications, application shutdown, and error-handling functions. (True or False?)

False. (page 269) The statement combines names and features of the client/server and security subsystems.

5.
Windows NT 4.0 _______________ perform basic operating system functions for all subsystems.

Executive Services. (page 269)

6.
The two environment subsystems that support non-Windows and non-DOS operating system applications are the _______ and ________ subsystems.

POSIX; OS/2. (page 269)

Chapter 8, Lesson 3

1.
From which of the following tabs on the Windows NT Task Manager dialog box can you end an application that is not working properly? Choose all answers that are correct. 

a.
Applications.

b.
Performance.

c.
Processes.

d.
Shutdown.

a and c. (pages 271, 274)

2.
A company has a multiprocessor computer running Windows NT 4.0 Server as the communications server. You find that one application seems to run on only one of the processors while the other processors seem to be idle. Which of the following could be responsible for this situation?

a.
The Set Affinity option manually set the hard affinity for that application to a single processor.

b.
Soft affinity assigned threads to processors where it was last run.

c.
The Window NT default setting is to use each processor until it is overloaded.

d.
The idle processors have been disabled using the Processor icon in the control panel.

a. (page 274)

3.
When Task Manager is running, pausing the cursor over the CPU usage gauge on the taskbar will display the percentage of CPU usage. (True or False?)

True. (page 274)

4.
By accessing the Processes tab on the Windows NT Task Manager dialog box, users can start applications or switch to a currently executing process. (True or False?)

False. (page 271) It is the Applications tab that is used to start tasks or switch to a program.

5.
Normally, if a thread has already run on a given processor, Windows NT will reassign it to _____________________.

The processor on which it previously ran. (page 274)

6.
Task Manager is used to view the status of programs or tasks currently running on the computer. To view the processes that are currently running, select the __________ tab; to view system statistics such as processor time, page faults, memory usage, and thread count, use the ________________ tab.

Processes; Performance. (page 271)

Chapter 8, Lesson 4

1.
Developers seeking very fast screen changes use low-level APIs designed specifically for high-performance applications. What is the name of the API that provides high-speed real-time response to the user interface?

a.
ActiveX.

b.
DirectX.

c.
OpenGL.

d.
OLE.

b. (page 278)

2.
Which of the following is the industry-standard software interface that produces two- and three-dimensional graphics independent of windowing systems, operating systems, and hardware?

a.
DirectX.

b.
DCOM.

c.
Microsoft DirectDraw.

d.
OpenGL.

d. (page 278)

3.
Win32-based applications run in their own 4-GB address space. (True or False?)

False. (page 277) Virtual Memory Manager allocates 4 GB of virtual memory space, but 2 GB is allocated to the system, leaving only 2 GB for the application.

4.
The OpenGL screen savers included with Windows NT use more CPU time than non-OpenGL screen savers. (True or False?)

True. (page 278)

5.
Win32-based applications are broken into __________, which are totally independent execution units of a process.

Threads. (page 276)

6.
Component Object Model (COM) is used to provide low-level object-binding mechanisms that enable objects to communicate with each other. _______ uses COM to provide high-level linking and embedding services for compound documents, while _________ uses COM to enable controls to be embedded in Web sites for interactive responses to events.

OLE; ActiveX. (page 278)

Chapter 8, Lesson 5

1.
Which of the following is a disadvantage of running Windows 16-bit applications in separate Windows NT Virtual DOS Machines (NTVDMs)?

a.
Preemptive multitasking is lost.

b.
OLE- and DDE-compliant Win16-based applications cannot share data.

c.
Multiprocessor computers can only run one Win16-based application at a time.

d.
The RAM usage increases by 1 MB per NTVDM memory space.

d. (page 289)

2.
By default, Win16-based programs share a common NTVDM. Which of the following procedures starts a Win16-based application in its own NTVDM? Choose all answers that are correct.

a.
Using the Run command from a Command Prompt.

b.
Clicking the Run in Separate Memory Space check box from the Run option of the Start menu.

c.
Clicking the Run in Separate Memory Space check box in the Properties Shortcut tab of the Shortcut icon.

d.
Using Windows NT Explorer’s View menu and clicking Option to edit the Win16-based application’s File Types tab to include the /separate switch in the open line.

b, c, and d. (pages 290-91)

3.
Running an MS-DOS-based application in an NTVDM permits the application to use kernel mode device drivers to communicate directly with system hardware, such as the mouse, keyboard, printer, and COM port. (True or False?)

False. (page 281) Windows NT does not permit direct access to hardware; hardware is accessed only through virtual device drivers.

4.
Once opened, the default (shared) NTVDM and WOW application environment will remain open, even if the Win16-based applications are closed. (True or False?)

True. (page 290)

5.
WOW translates or ________ between 16-bit and 32-bit API calls.

Thunks. (page 284)

6.
By default, a single NTVDM starts when the first Win16-based application is initialized. Where do the other Win16 applications run, by default?

In the same NTVDM. (page 285)

Chapter 8, Lesson 6

1.
A company is concerned that its Windows 3.x-based applications will be rendered incompatible when new RISC-based Windows NT computers are installed. All of these older programs use Intel x86 instructions, which are not part of the RISC processor’s instruction set. Which of the following responses to this concern is valid? Choose all answers that are correct.

a.
RISC-based computers are based on Intel-based designs that support the old Windows 3.x programs.

b.
Windows NT versions developed for RISC-based processors include Intel 80486 instruction set emulation.

c.
Windows 3.x- and MS-DOS-based applications are binary-compatible across all computers running Windows NT.

d.
Windows NT incorporates bound applications for older Windows-based software.

b and c. (page 298-99)

2.
Your company wants to bid on supplying the federal government with Windows NT computers. You know the systems are for a POSIX-based custom application. Which of the following extra items must you include?

a.
The POSIX-only version of NTFS.

b.
The Windows NT add-on Presentation Manager.

c.
Time to recompile the POSIX application on the new platform.

d.
The more expensive Intel x86 processor-based computer.

c. (page 299)

3.
Binary-compatible applications can run on any hardware platform supported by Windows NT, with no recompilation necessary. (True or False?)

True. (page 297)

4.
MS-DOS- and Windows 3.x-based programs are binary-compatible. (True or False?)

True. (page 298)

5.
A ______-compatible application must be recompiled while ______-compatible applications can run on any hardware running Windows NT.

Source; binary. (page 297)

6.
MS-DOS- and Windows 3.x-based programs are ______-compatible.

Binary. (page 298)

Chapter 8, Lesson 7

1.
The new client/server version of a contact manager that requires distributed Component Object Model (DCOM) has arrived. When setting up DCOM, which of the following must you do? Choose all answers that are correct.

a.
Nothing; DCOM is always active.

b.
Enable DCOM on the client and designate the server.

c.
Enable DCOM on the server and specify the user accounts that have permission to access or start the application and the user accounts that are used to run the application.

d.
Enable DCOM on the network interface card setup

b and c. (page 305)

2.
To permit an RPC to carry out a procedure on a computer other than the one on which the application is running, to which of the following should a call be made at the client computer?

a.
OLE.

b.
Packet Services.

c.
Stub code.

d.
Remote DCOM.

c. (page 301)

3.
With the distributed Component Object Model (DCOM), a client application carries out an RPC call that is forwarded to another computer. (True or False?)

True. (page 300)

4.
Stub code is a piece of programming code designed to emulate a local routine that actually resides on a remote computer. (True or False?)

True. (page 301)

5.
The distributed Component Object Model (DCOM) uses ____________ and Windows NT 4.0 security features, such as permissions, to allow applications to communicate across networks.

Remote procedure calls (RPCs). (page 300)

6.
________________ is a piece of programming code designed to emulate a local routine that actually resides on a remote server.

Stub code. (page 301)

Chapter 8, Lesson 8

1.
Multiple users share a Windows NT 4.0 computer. Which of the following can be performed from the Command Prompt? Choose all answers that are correct. 

a.
Starting Win32, Win16, MS-DOS, and POSIX applications.

b.
Starting a batch command with a .cmd extension.

c.
Cutting and pasting information between applications running under different subsystems.

d.
Starting a Command Prompt under the NT Virtual DOS Machine (NTVDM).

a, b, and c. (page 306)

2.
An application designed to run in the background is taking too much processor time. Which of the following should be performed to correct the situation?

a.
Adding a /realtime switch to the start command.

b.
Lowering the priority level to 4 on Task Manager’s Processes tab.

c.
Lowering the priority level to 2 on the application’s Properties/Details tab.

d.
Taking the application out of the foreground.

b. (page 309)

3.
Using the Start menu’s Programs folder to launch the Command Prompt launches a Windows NT Virtual DOS Machine (NTVDM). (True or False?)

False. (page 306) NTVDM starts only when an MS-DOS-based application starts.

4.
To boost performance of system-intensive applications such as an Internet browser, users should change the browser’s priority to 24. (True or False?)

False. (pages 308-9) Setting a browser to a real-time priority of 24 could destabilize the system’s operation. These settings are for kernel-related processes.

5.
If the Application Performance box Boost setting in the System Properties dialog box is set to ________, all foreground and background applications retain their base priority levels.

None. (page 310)

6.
The four application starting priority settings are _________, ______, _______, and ________.

/realtime; /high; /normal; /low. (page 309)

